BIR

FENOFRITER (C—/RREESE)

A4 Aol TRt

iR = =
AL 2(();:2% (zggi) i:;iig 20254 20264 % 20274 20284
FHFEE m’/4E 494,054,915 500,183,000 510,827,000 520,312,000 526,494,000 536,116,000 545,306,000
L e EEEES mf/a#ﬁga 187,719 168,649 185,106 187,736 188,758 189,140 189,631
AR T R B m?® /B - - 13,882 14,080 14,156 14,185 13,404
T (%) % - - 7.5% 7.5% 7.5% 7.5% 7.1%
TR E m’/4E 1,221,183 2,705,000 2,943,000 3,294,000 3,458,000 3,636,000 4,105,000
B TSy m® /I 1,239 1,326 1,348 1,348 1,348 1,348 1,348
AR IR m’ /e - - 101 101 101 101 95
A1 (%) % - - 7.5% 7.5% 7.5% 7.5% 7.1%
FHTREE m’/4F 59,336,614 62,670,000 63,486,000 63,889,000 65,121,000 67,838,000 68,832,000
T EEES m® /B ] 15,840 15,299 16,394 16,731 16,594 17,224 17,603
AR T e R m® /B - - 1,230 1,255 1,245 1,292 1,244
T (%) % - - 7.5% 7.5% 7.5% 7.5% 7.1%
FHTEE m®/4F 50,415,724 50,491,000 51,212,000 52,020,000 52,466,000 53,336,000 54,565,000
i %‘%E% m’ /R 18,057 16,593 16,635 16,813 17,010 17,218 17,357
AR IR m’ /B[] - - 1,248 1,261 1,276 1,068 937
A1 (%) % - - 7.5% 7.5% 7.5% 6.2% 5.4%
FHTEE m’/4E 10,685,355 10,777,000 11,169,000 11,724,000 12,101,000 12,456,000 13,298,000
iR, R m® /B ] 3,587 3,969 4,123 4,302 4,410 4,455 4,708
R T e R m?® /B - - 309 323 331 334 353
T (%) % - - 7.5% 7.5% 7.5% 7.5% 7.5%
FHTREE m®/4F 1,108,293 1,055,000 1,056,000 1,071,000 1,075,000 1,088,000 1,079,000
R TSy m® /I 408 366 488 488 488 488 488
RS IR m’ /e - - 37 37 37 37 34
A1 (%) % - - 7.5% 7.5% 7.5% 7.5% 7.1%
FHFEEE m’/4E 616,822,083 627,881,000 640,693,000 652,310,000 660,715,000 674,470,000 687,185,000
~ = i m? /¢ R 226,851 206,202 224,094 227,418 228,608 229,873 231,135
T AR T e R B m?® /B - - 16,807 17,057 17,146 17,017 16,067
FEE ) (%) % - - 7.5% 7.5% 7.5% 7.4% 7.0%

SCALIR < /ML 2024410 H ~HFEHN VB R Ex X EET




(BE)E2R BRFE

LB RS
T XETH 4 21 a5t THRXEmEE 5,598.4 km?
o [RENFE 2((’;:%:{5 (ggggg) %gﬁﬁf 20254 | 20264EFE | 20274 | 20284FfE

T 1 X
7 |[HEXEmE km? 4414 4415 4415 4415 4415 4415 4415
fi)t HER A — AR [=] 1,144,448] 1,151,001 1,151,244 1,149,681 1,147,650,  1,144454| 1,142,232
,f; B 48 B P4 Z A — FERITREE | @ 600,866 605,356 605,438 604,346 602,037 599,174 598,484
X | SREEHRUE | % 1.1 07 0.0 -0.2 ~04 -05 0.1
= HRERRBERAEERET RE % 52.5 52.6 52.6 52.6 52.5 52.4 52.4
EEEE m 5,603,846| 5643,158| 5685180 5,730,391 5,770,492| 5805725 5841580
= SETEEBRUE | % 0.8 0.7 0.7 0.8 0.7 0.6 0.6
" HRETH £ EXaR=iay TE X i 1S 5,598.4 km?

B

il 5 202FE | 023FFE | 2024FE | o005 | 006t | 20278 | 20285
T [BENFE (E®) | (EERD) | WEE) ik ik FE FE
F |[HEREEE km? 0.8 2.1 2.1 2.1 2.1
Bt R R — et =] 1718 1718 1718 1718 1718
“,z” IR I RH R A—2—F ERETHA 1@ 51 62 269 280 291
g |[HERBERNEARE RE % 3.0 3.6 15.7 16.3 16.9
BEER m 3,882 5,762 6,328 6,805 7,283
HEETH £ EX ARty THRXEmiE 5,598.4 km?

1 20225 | 2023FEE | 2024%FE
I £ o= | 2 = = | 2025%EFE | 2026%EFE | 2027FFE | 2028%FfE
m [HENFE (£ | (EERA) | BEE) FE FE FE FE
ﬁ HIAXEmEE km? 4413 4414 4423 4435 4435 4435 4435
g | BB — TSR a 1,144,448 1,151,001 1,152,962 1,151,399  1,149,368) 1,146,172 1,143,950
X [{#HERBERHAA—S—FERITIASK & 600,864 605,356 605,489 604,408 602,306 599,454 598,775
=t HIEREANEAEE R ER % 52.5 52.6 52.5 52.5 52.4 52.3 52.3
BEER m 5,603,846| 5643,158| 5,689,061 5,736,153 5,776,820/ 5812530 5,848,863




(RE)E2xk ETREHE
T XETH 4 iR &5t THRXEmEE 1,121.3 km?
o [REN\FE 2((’;:%:{5 (ggggﬁ) %gﬁ“ﬁf‘% 20254 | 20264EfE | 20274 | 20284FfE
7 | XEmE km? 262.9 262.9 262.9 262.9 262.9 262.9 262.9
ﬁi HEX AN — AR =] 870,022 877,181 876,978 876,482 875,688 873,884 873,202
4 a0 2 b 5 2 Ay — | TR AT HER | B 459,254 463,675 463,414 463,661 462,489 461,206 460,330
X PR MR R A~ SBTEEHRUE | % 13 1.0 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 52.8 52.9 52.8 52.9 52.8 52.8 52.7
EEEE m 3,406,628| 3432464 3465697 3,503,186  3536,390, 3,567,252| 3,598,813
= HETEEBUE | % 1.0 08 10 11 09 09 09
oo HRETH £ fLiR™ &t ITHEXEmE 1,121.3 km?
B
71%11 HE\ R 2(();:%:{; (gggi) %gﬁ‘;ﬂ% 20254 | 20264EFE | 20274 | 20284 [E
F |HERIBEE km?
fﬁ B R 1 N — AR T % =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HERETH £ ALiEm &t THRXEmiE 1,121.3 km?
i% s s i
o [EENEE 2?;:%:{; (gggi) fgﬁ“éﬁg 20254EFE | 20264EFE | 20274EFE | 20284
;ﬁ HIAXEmEE km? 262.8 262.9 262.9 262.9 262.9 262.9 262.9
g | AR — AT F 870,022 877,181 876,978 876,482 875,688 873,884 873,202
X [{HERBRHAA—S—FERITIASK & 459,254 463,675 463,414 463,661 462,489 461,206 460,330
= HIEREANEARE R ER % 52.8 52.9 52.8 52.9 52.8 52.8 52.7
BEER m 3,406,628| 3432464 3465697 3,503,186 3,536,390 3567,252| 3,598,813




(BE)E2R BRFE

HRXETH £ AR FRE THRXEmE 46.4 km?
o [REN\FE 2((’;:%:{5 (ggggﬁ) %gﬁ“ﬁf‘% 20254 | 20264EfE | 20274 | 20284FfE
7 | XEmE km 28.1 28.1 28.1 28.1 28.1 28.1 28.1
ﬁi HEX AN — AR =] 146,671 147,929 148,595 149,175 149,672 149,966 150,425
4 a0 2 b 5 2 Ay — | TR AT HER | B 122,532 123918 123,848 123914 123,601 123,258 123,024
X PR MR R A~ SBTEEHRUE | % 1.7 1.1 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 835 83.8 83.3 83.1 82.6 82.2 81.8

EEEE m 535,797 537,226 538,874 540,850 542,600 544,227 545,891

: SEEERUVE | % 0.2 04 05 05 0.4 0.4 0.4

oo HRETH £ ALIE™H FRE ITHEXEmE 46.4 km?
B
71%11 HE\ R 2(();:%:{; (gggi) %gﬁ‘;ﬂ% 20254 | 20264EFE | 20274 | 20284 [E
F |HERIBEE km?
fﬁ B R 1 N — AR T % =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %

EBEER m

HERETH £ AR fRE THRXEmiE 46.4 km?
i% s s i
o |[BENEE 2?;:%:{; (gggi) fgﬁ“éﬁg P0254EFE | 20264FFE | 20274EFE | 20284FFE
;ﬁ HIAXEmEE km? 28.1 28.1 28.1 28.1 28.1 28.1 28.1
go | HERR BRI — AR H 5L F 146,671 147,929 148,595 149,175 149,672 149,966 150,425
X [{HERBRHAA—S—FERITIASK & 122,532 123,918 123,848 123,914 123,601 123,258 123,024
= HIEREANEARE R ER % 835 83.8 83.3 83.1 82.6 82.2 81.8

BEER m 535,797 537,226 538,874 540,850 542,600 544,227 545,891




(BE)E2R BRFE

T XETH 4 AIEH JEX THRXEmEE 63.6 km?
i 20225 F | 20235 | 2024FE = i i =
B HEE\EE (=) (=B | (EE) 20254EE | 20264EE | 20274EE | 20284 E
7 | XEmE km? 41.9 419 41.9 419 41.9 41.9 41.9
ﬁi HEX AN — AR =] 119,506 120,432 120,270 120,085 119,873 119,537 119,367
4 a0 2 b 5 2 Ay — | TR AT HER | B 54,646 55,875 55,844 55,873 55,732 55,577 55,472
X PR MR R A~ SBTEEHRUE | % 1.0 2.2 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 457 46.4 46.4 46.5 46.5 46.5 46.5
HEEE m 562,456 569,652 576,221 584,099 591,080 597,566 604,199
= SEEERUVE | % 038 1.2 038 0.8 0.7 0.7 0.7
HXETA & MRS dEX ITHEXEmE 63.6 km?
iéé
B
m - 20225 F | 2023FEE | 20245 E = = = =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ HEHA X I3 P — AR T 5K =]
“B” HIAR B AN A A—2—F EREUTHEE 1@
1B |HERERNEERERE %
EBEER m
HXETA & AR dEX THRXEmiE 63.6 km?
18 N 2022FE | 2023 | 2024&[E e - N -
Z]” IEHE\ERE (5240) (EEEA) | (o) 20254EFE | 20264EFE | 2027EE | 2028FFE
ﬁ HIAXEmEE km? 419 419 41.9 419 41.9 41.9 41.9
4«3 HIAXRE AN — AT =] 119,506 120,432 120,270 120,085 119,873 119,537 119,367
X | AA—R—FERRHE & 54,646 55,875 55,844 55,873 55,732 55,577 55,472
X B REBERNHAA—F—FEERIUT 1
= HIEREANEARE R ER % 457 46.4 46.4 46.5 46.5 46.5 46.5
BEER m 562,456 569,652 576,221 584,099 591,080 597,566 604,199




(BE)E2R BRFE

HRXETH £ ALiR™H EX THRXEmE 57.0 km2
i 20225 F | 20235 | 2024FE = i i =
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 34.4 34.4 344 344 344 34.4 344
ﬁi HEX AN — AR =] 121,654 122,732 122,799 122,837 122,846 122,722 122,767
B e mmis g | TEARMHRE | 43,383 44,087 44,062 44,086 43,974 43,852 43,769
X BB Em 4 SBTEEHRUE | % 0.9 16 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 35.7 35.9 35.9 35.9 35.8 35.7 35.7
EEEE m 437,079 442,064 448,003 455,126 461,436 467,300 473,296
RETEEHEUVE | % 1.0 1.9 16 15 13 13 12
oo HRETH £ ALiRH EX ITHEXEmE 57.0 km?
B
m - 20225 F | 2023FEE | 20245 E = = = =
% HENEE (=) | (=EEn | Gneg) | 205FE | 2026FE | 2027FE | 2028FE
F |HERIBEE km?
fﬁ HEHA X I3 P — AR T 5K =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HERETH £ ALiE™ E’EX THRXEmiE 57.0 km?
18 N 2022FE | 2023 | 2024&[E - - N -
Z]” HENEE () (= | e 20254EFE | 2026%EFE | 2027EE | 20285
ﬁ HIAXEmEE km? 344 344 344 344 344 34.4 34.4
4«3 HIAXRE AN — AT =] 121,654 122,732 122,799 122,837 122,846 122,722 122,767
X [{HERBRHAA—S—FERITIASK & 43383 44,087 44,062 44,086 43,974 43,852 43,769
= HIEREANEARE R ER % 35.7 35.9 35.9 35.9 35.8 35.7 35.7
BEER m 437,079 442,064 448,003 455,126 461,436 467,300 473,296




(BE)E2R BRFE

HRXETH £ LiRm BAR THRXEmE 34.5 km?
i 20225 F | 20235 | 2024FE = i i =
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 29.9 29.9 29.9 29.9 29.9 29.9 29.9
ﬁi HEX AN — AR = 108,782 109,781 109,325 108,872 108,417 107,872 107,492
4 A T R 2 A | TR | A 45,743 45,977 45,951 45,976 45,859 45,732 45,645
X PR MR R A~ SBTEEHRUE | % 13 0.5 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 42 1 419 420 422 423 42.4 425
W m 322,708 324,597 327,586 331,171 334,344 337,295 340,313
HELE HETEEBUE | % 1.6 03 10 09 08 08 08
oo HXETA & iR BAR ITHEXEmE 34.5 km?
B
m - 20225 F | 2023FEE | 20245 E = = = =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ HEHA X I3 P — AR T 5K =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HXETA & g™ BaRx THRXEmiE 34.5 km?
18 N 2022FE | 2023 | 2024&[E - - N -
Z]” IEHE\ERE (5240) (EEEA) | (o) 20254EFE | 20264EFE | 2027EE | 2028FFE
ﬁ Hia X ER km? 29.9 29.9 29.9 29.9 29.9 29.9 29.9
4«3 HIAXRE AN — AT =] 108,782 109,781 109,325 108,872 108,417 107,872 107,492
X [{HERBRHAA—S—FERITIASK & 45,743 45977 45,951 45976 45859 45,732 45,645
= HIEREANEARE R ER % 42 1 419 420 422 423 42.4 425
BEER m 322,708 324,597 327,586 331,171 334,344 337,295 340,313




(RE)E2xk ETREHE
T XETH 4 IR BERX THRXEmEE 46.2 km?
i 20225 F | 20235 | 2024FE = i i =
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 22.9 229 22.9 229 22.9 229 229
ﬁi HEX AN — AR [=] 121,748 122,814 123,145 123,406 123,602 123,632 123,802
4 a0 2 b 5 2 Ay — | TR AT HER | B 62,299 62,321 62,286 62,319 62,162 61,989 61,871
X PR MR R A~ SBTEEHRUE | % 1.7 0.0 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 51.2 50.7 50.6 50.5 50.3 50.1 50.0
e \ m 361,964 364,049 366,844 370,196 373,162 375,922 378,744
RETEEHEUVE | % 0.6 1.1 0.9 0.9 0.8 0.8 0.8
oo HXETA & AR BERX ITHEXEmE 46.2 km?
B
m - 20225 F | 2023FEE | 20245 E = = = =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ HEHA X I3 P — AR T 5K =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HXETA & g BERX THRXEmiE 46.2 km?
18 N 2022FE | 2023 | 2024&[E e - N -
Z]” HENEE () (= | e 20254EFE | 2026%EFE | 2027EE | 20285
ﬁ HIAXEmEE km? 22.9 229 22.9 229 22.9 229 22.9
4«3 HIAXRE AN — AT =] 121,748 122,814 123,145 123,406 123,602 123,632 123,802
X [{HERBRHAA—S—FERITIASK & 62,299 62,321 62,286 62,319 62,162 61,989 61,871
= HIEREANEARE R ER % 51.2 50.7 50.6 50.5 50.3 50.1 50.0
BEER m 361,964 364,049 366,844 370,196 373,162 375,922 378,744




(BE)E2R BRFE

HXETH 4 g B THRXEmEE 657.5 km?
o [REN\FE 2((’;:%:{5 (ggggﬁ) %gﬁ“ﬁf‘% 20254 | 20264EfE | 20274 | 20284FfE
7 | XEmE km? 19.3 19.3 19.3 19.3 19.3 19.3 19.3
ﬁi HEX AN — AR = 34,254 34,168 33,926 33,666 33,387 33,063 32,777
4 a0 2 b 5 2 Ay — | TR AT HER | B 22,202 22,122 22,110 22,121 22,065 22,004 21,962
X PR MR R A~ SBTEEHRUE | % 0.8 -04 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 64.8 64.7 65.2 65.7 66.1 66.6 67.0
EEEE m 155,735 155,719 157,814 157,962 158,093 158,214 158,338
= HETEEBUE | % 0.1 0.2 02 20 02 02 02
oo HXETA & ALiR™ BmX ITHEXEmE 657.5 km?
B
71%11 HE\ R 2(();:%:{; (gggi) %gﬁ‘;ﬂ% 20254 | 20264EFE | 20274 | 20284 [E
E TSR EiE km?
fﬁ HEHA X I3 P — AR T 5K =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HXETA & ALiE™ EmX THRXEmiE 657.5 km?
18 N 2022FE | 2023 | 2024&[E e - N -
Z]” HENEE () (= | e 20254EFE | 2026%EFE | 2027EE | 20285
ﬁ HIAXEmEE km? 19.3 19.3 19.3 19.3 19.3 19.3 19.3
4«3 HIAXRE AN — AT =] 34,254 34,168 33,926 33,666 33,387 33,063 32,777
X [{HERBRHAA—S—FERITIASK & 22,202 22,122 22,110 22,121 22,065 22,004 21,962
= HIEREANEARE R ER % 64.8 64.7 65.2 65.7 66.1 66.6 67.0
BEER m 155,735 155,719 157,814 157,962 158,093 158,214 158,338




(BE)E2R BRFE

HXETH 4 AIETH AR THRXEmEE 75.1 km?
i 20225 F | 20235 | 2024FE = i i =
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 20.3 20.3 20.3 20.3 20.3 20.3 20.3
ﬁi HEX AN — AR = 82,089 83,010 83,028 83,014 82,971 82,828 82,791
4 a0 2 b 5 2 Ay — | TR AT HER | B 40,019 40,471 40,448 40,470 40,367 40,255 40,179
X PR MR R A~ SBTEEHRUE | % 2.3 1.1 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 48.8 488 48.7 4838 48.7 48.6 485
EEEE m 234,613 236,990 241,410 246,711 251,403 255,767 260,230
RETEEHEUVE | % 2.9 1.4 26 25 2. 2.2 20
oo X ETH 4 LIRS AR THRREEE 75.1 km?
B
m - 20225 F | 2023FEE | 20245 E = = = =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ HEHA X I3 P — AR T 5K =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
g |MHERERAE AT RE %
EBEER m
HERETH £ ALiE™ X THRXEmiE 75.1 km?
18 N 2022FE | 2023 | 2024&[E - - N -
Z]” HENEE () (= | e 20254EFE | 2026%EFE | 2027EE | 20285
ﬁ HIAXEmEE km? 20.3 20.3 20.3 20.3 20.3 20.3 20.3
4«3 HIAXRE AN — AT =] 82,089 83,010 83,028 83,014 82,971 82,828 82,791
X [{HERBRHAA—S—FERITIASK & 40,019 40,471 40,448 40,470 40,367 40,255 40,179
= HIEREANEARE R ER % 488 488 48.7 4838 48.7 48.6 485
BEER m 234,613 236,990 241,410 246,711 251,403 255,767 260,230

10




(BE)E2R BRFE

T XETH 4 iR ERIR THRXEmEE 24.4 km?
N 20224FFF | 20234 FE | 202445 i i i 3
B HENEE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 23.5 235 235 235 235 235 235
ﬁi HEX AN — AR =] 57,682 58,101 57,851 57,582 57,293 56,937 56,652
4 40 1 s 2 A | T AT RS | B 38,818 39,079 39,057 39,078 38,979 38,871 38,797
X PR mm] 4 SBTEEHRUE | % 0.6 0.7 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 67.3 67.3 67.5 67.9 68.0 68.3 68.5
EEEE m 348,562 353,560 359,044 365,620 371,444 376,857 382,393
RETEEHEUVE | % 0.8 2.3 12 1.1 10 10 10
oo HRETH £ ALiE™ [ERIRX ITHEXEmE 24.4 km?
B
m i 20226 | 20235E | 2024FE = = - =
% HEE\EE (=) (=EEN) | (EE) 20254EFF | 20265EfE | 20274 E | 2028FFE
F |HERIBEE km?
fﬁ B R 1 N — AR T % =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HERETH £ ALiEm [ERIRX THRXEmiE 24.4 km?
18 - 2022 E | 2023FE | 2024EFE N N o N
Z]” HENEE () (= | e 20254EFE | 2026%EFE | 2027EE | 20285
ﬁ HIAXEmEE km? 23.5 235 235 235 235 235 23.5
g | AR — AT F 57,682 58,101 57,851 57,582 57,293 56,937 56,652
X [{HERBRHAA—S—FERITIASK & 38,818 39,079 39,057 39,078 38,979 38,871 38,797
= HIEREANEARE R ER % 67.3 67.3 67.5 67.9 68.0 68.3 68.5
BEER m 348,562 353,560 359,044 365,620 371,443.9 376,857 382,393

11




(BE)E2R BRFE

HRXETH £ AR FRE THRXEmE 56.8 km?
- 20226 | 2023FE | 2024FE = = - =
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 22.2 222 22.2 222 222 222 222
ﬁi HEX AN — AR = 39,977 40,190 40,238 40,265 40,269 40,221 40,217
4 a0 2 b 5 2 Ay — | TR AT HER | B 14514 14,610 14,602 14,610 14573 14,532 14,505
X PR MR R A~ SBTEEHRUE | % 1.8 0.7 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 36.3 36.4 36.3 36.3 36.2 36.1 36.1
EEEE m 202,388 202,855 203,440 204,141 204,764 205,341 205,932
RETEEHEUVE | % 0.3 0.3 0.3 0.3 0.3 0.3 0.3
oo HRETH £ ALiR™H FRE ITHEXEmE 56.8 km?
B
m i 20226 | 20235E | 2024FE = = - =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ B R 1 N — AR T % =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HERETH £ ALiE™ FRE THRXEmiE 56.8 km?
i% s s i
o [EENEE 2?;:%:{; (gggi) fgﬁ“éﬁg 20254EFE | 20264EFE | 20274EFE | 20284
;ﬁ HIAXEmEE km? 22.1 222 22.2 222 22.2 222 222
g | AR — AT F 39,977 40,190 40,238 40,265 40,269 40,221 40,217
X [{HERBRHAA—S—FERITIASK & 14,514 14,610 14,602 14,610 14,573 14,532 14,505
= HIEREANEARE R ER % 36.3 36.4 36.3 36.3 36.2 36.1 36.1
BEER m 202,388 202,855 203,440 204,141 204,764 205,341 205,932
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(BE)E2R BRFE

HRXETH £ ALiR™ FREX THRXEmE 59.9 km2
- 20226 | 2023FE | 2024FE = = - =
B HEE\EE (=) (=B | (EE) 20254EE | 20264EE | 20274EE | 20284 E
7 | XEmE km? 20.3 20.3 20.3 20.3 20.3 20.3 20.3
D [fa K5 9 — A& T2 = 37,659 38,024 37,800 37,579 37,359 37,107 36,913
A FERIMGRE | 1
% |pie mi AR A—— R & 15,098 15,215 15,206 15,215 15,176 15,134 15,105
X BB Em 4 SBTEEHRUE | % 15 0.8 -0.1 0.1 -0.3 -0.3 -0.2
= HRERBEAEERET RE % 40.1 40.0 40.2 405 40.6 40.8 40.9
EEEE m 245,326 245,753 246,461 247,310 248,064 248,763 249,477
RETEEHEUVE | % 04 0.2 0.9 0.9 0.8 0.8 0.8
oo HXETA & ARt EFHEK THRXEmEE 59.9 km?
B
m i 20226 | 20235E | 2024FE = = - =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ B R 1 N — AR T % =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
i [HERFEAEAE R E %
EBEER m
HXETA & ARt EFHER THRXE@EE 59.9 km?
18 - 2022 E | 2023FE | 2024EFE i N - N
Z]” IEHE\ERE (5240) (EEEA) | (o) 20254EFE | 20264EFE | 2027EE | 2028FFE
ﬁ HIAXEmEE km? 20.3 20.3 20.3 20.3 20.3 20.3 20.3
4«3 HHERBRN— R EER =] 37,659 38,024 37,800 37,579 37,359 37,107 36,913
X [{HERBRHAA—S—FERITIASK & 15,098 15,215 15,206 15,215 15,176 15,134 15,105
= HIEREANEARE R ER % 40.1 40.0 40.2 40.5 40.6 40.8 40.9
BEER m 245,326 245,753 246,461 247,310 248,064 248,763 249,477
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(RE)E2xk ETREHE
T XETH 4 B¥rh THRXEmEE 722.4 km?
N 20224FFF | 20234 FE | 202445 i i i 3
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 17.4 174 17.4 174 17.4 174 17.4
ﬁi HEX AN — AR = 23,695 23,531 23,497 23,429 23,330 23,204 23,050
4 a0 2 b 5 2 Ay — | TR AT HER | B 6,380 6.477 6,554 6,631 6,905 6,982 7,059
X PR MR R A~ SATEEBRUE | % 1.7 15 1.2 1.2 4.1 1.1 1.1
= HRERBEAEERET RE % 26.9 275 27.9 28.3 29.6 30.1 30.6
EEEE m 194,096 195,495 196,548 197,811 198,928 199,968 201,032
: SEEERUVE | % 00 05 04 04 0.4 0.4 0.4
oo HXETA & YeY Sl ITHEXEmE 722.4 km?
B
m i 20226 | 20235E | 2024FE = = - =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
+ |HIEXEEIE km? 0.4 0.4 0.4 0.4
H (e EE R — At S =]
© [BeRERAA s EEARAES | B
1B |HERERNEERERE %
EBEER m
HXETA & YeY Sl THRXEmiE 722.4 km?
18 - 2022 E | 2023FE | 2024EFE i N - N
Z]” IEHE\ERE (5240) (EEEA) | (o) 20254EFE | 20264EFE | 2027EE | 2028FFE
ﬁ HicxEmER km” 17.4 17.4 17.4 17.7 17.7 17.7 17.7
4«3 HIAXRE AN — AT =] 23,695 23,531 23,497 23,429 23,330 23,204 23,050
X [{HERBRHAA—S—FERITIASK & 6,380 6,477 6,554 6,631 6,905 6,982 7,059
= HIEREANEARE R ER % 26.9 275 27.9 28.3 29.6 30.1 30.6
BEER m 194,096 195,495 196,548 197,811 198,928 199,968 201,032
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(RE)E2xk ETREHE
HRXETH £ IEB™ THRXEmE 119.1 km?
- 20226 | 2023FE | 2024FE = = - =
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
F (AR EEE km? 5.0 5.0 5.0 5.0 5.0 5.0 5.0
ﬁi HEX AN — AR =] 2,830 2,851 4,188 4,187 4,184 4,179 4172
B e mmis g | TEARMHRE | 479 515 563 596 826 859 892
X e s SATEEBRUE | % 62.4 75 9.3 5.9 38.6 4.0 3.8
= HEREAEAEE R ER % 16.9 18.1 13.4 14.2 19.7 20.6 21.4
EEEE m 19,252 23,232 23,232 23,232 23,232 23,232 23,232
RETEEHEUVE | % 0.0 7.2 0.0 0.0 0.0 0.0 0.0
oo R ETH £ AN L] TR EEE 119.1 km?

B

m i 20226 | 20235E | 2024FE = = - =
% HENFE (=) | (=EEn | Gneg) | 205FE | 2026FE | 2027FE | 2028FE
+ |HIEXEEIE km? 0.5 05 0.5 0.5 0.5
ff HIAREAN— AT =] 1,336 1,336 1,336 1,336 1,336
“B” AR NH R A—2—EE R 1& 40 40 237 237 237
i [HERFEAEAE R E % 3.0 3.0 17.7 17.7 17.7
BEER m 3,453 3,453 3,541 3,541 3,541
HERETH £ IEB™ THRXEmiE 119.1 km?
18 - 2022 E | 2023FE | 2024EFE i N - N
Z]” HENEE () (= | e 20254EFE | 2026%EFE | 2027EE | 20285
ﬁ ARSI km? 5.0 50 55 55 55 55 55
4«3 HIAXRE AN — AT =] 2,830 2,851 5,524 5,523 5,520 5,515 5,508
X [{HERBRHAA—S—FERITIASK & 479 515 603 636 1,063 1,096 1,129
= HIEREANEARE R ER % 16.9 18.1 10.9 115 19.3 19.9 20.5
BEER m 19,252 23,232 26,684 26,684 26,772 26,772 26,772
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(RE)E2xk ETREHE
HRXETH £ Mg THRXEmE 243.8 km?
- 20226 | 2023FE | 2024FE = = - =
B HENEE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 41.9 419 41.9 419 41.9 41.9 41.9
ﬁi HEX AN — AR =] 43876 43214 42,652 42,062 41,445 40,806 40,147
4 a0 2 b 5 2 Ay — | TR AT HER | B 31,519 31,357 31,213 31,047 30,875 30,704 30,525
X PR MR R A~ SBTEEHRUE | % -0.6 -05 -05 -05 -0.6 -0.6 -0.6
= HRERBEAEERET RE % 71.8 72.6 73.2 73.8 745 75.2 76.0
EEEE \ m 376,533 376,734 376,984 377,134 377,284 377,434 377,584
RETEEHEUVE | % 0.3 0.2 0.1 0.1 0.1 0.1 0.1
oo X ETH % IMEgTH TR S E R 243.8 km?
B
o N 20224FFE | 20234 FE | 20244 i i i 3
% HEE\EE (=) (=EEN) | (EE) 20254EFF | 20265EfE | 20274 E | 2028FFE
+ |HIEXEEIE km? 0.9 0.9 0.9 0.9
fﬁ HEAA X I8 P — AR T 5 =] 0 0 0 0
“B” AR NH R A—2—EE R 1@ 1 1 2 3
1B |HERERNEERERE %
BEER m 1,403 1,403 1,403 1,403
HERETH £ Mg THRXEmiE 243.8 km?
18 - 2022 E | 2023FE | 2024EFE i N - N
Z]” HENEE () (= | e 20254 | 20264EFE | 20274EE | 20284
ﬁ i X A km’ 41.9 41.9 41.9 42.7 42.7 42.7 42.7
go | HERR BRI — AR H 5L F 43,876 43,214 42,652 42,062 41,445 40,806 40,147
X [{HERBRHAA—S—FERITIASK & 31,519 31,357 31,213 31,048 30,876 30,706 30,528
= HIEREANEARE R ER % 71.8 72.6 73.2 73.8 745 75.2 76.0
BEER m 376,533 376,734 376,984 378,537 378,687 378,837 378,987
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(RE)E2xk ETREHE
T XETH 4 EREET THRXEmEE 677.9 km?
o [REN\FE 2((’;:%:{5 (ggggg) %gﬁﬁf 20254 | 20264EfE | 20274 | 20284FfE
il i X
7 | XEmE km? 48.7 48.7 48.7 48.7 48.7 48.7 48.7
ﬁi HEX AN — AR =] 109,102 108,693 108,074 107,401 106,677 105,905 105,087
% 140 O 3o P 2 A FERIDUTRE | B 62,761 62,502 62,241 60,384 58,525 56,665 56,536
X Bl SBTEEHRUE | % -05 -04 -04 -3.0 -3.1 -3.2 -0.2
= HRERBEAEERET RE % 57.5 575 57.6 56.2 54.9 53.5 53.8
EEEE m 796,674 798,808 800,267 802,253 803,444 804,635 805,826
= HETEEBUE | % 05 03 02 02 02 02 0.1
oo HRETH £ BREETH ITHEXEmE 677.9 km?
B
71%11 HE\ R 2(();:%:{; (2;012«;;5;) %gﬁ‘;ﬂ% 20254 | 20264EFE | 20274 | 20284 [E
+ |HIEXEEIE km? 0.2 0.2 0.2 0.2 0.2
fﬁ HEAA X I8 P — AR T 5 =] 20 20 20 20 20
“B” AR NH R A—2—EE R 1@ 1 1 1 1 1
i [HERFEAEAE R E % 5.0 5.0 5.0 5.0 5.0
BEER m 269 269 269 269 269
HERETH £ BREETH THRXEmiE 677.9 km?
ié i s =
o [EENEE 2?;:%:{; (gggi) fgﬁ‘frg 20254EFE | 20264EFE | 20274EFE | 20284
;ﬁ HIAXEmEE km? 48.7 48.7 48.9 489 48.9 48.9 48.9
g | AR — AT F 109,102 108,693 108,094 107,421 106,697 105,925 105,107
X [{HERBRHAA—S—FERITIASK & 62,761 62,502 62,242 60,385 58,526 56,666 56,537
= HIEREANEARE R ER % 57.5 575 57.6 56.2 54.9 53.5 53.8
BEER m 796,674 798,808 800,536 802,522 803,713 804,904 806,095
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(BE)E2R BRFE

T XETH 4 bk THRXEmEE 397.4 km?
i 20225 F | 20235 | 2024FE = i i =
B HEE\EE (=) (=B | (EE) 20254EFF | 2026FEfE | 2027 E | 2028FFE
7 | XEmE km? 15 15 15 15 15 15 15
ﬁi HEX AN — AR =] 3,767 3,767 3,757 3,746 3,732 3,716 3,698
4 40 1 s 2 A | T AT RS | B 963 1,010 1,042 1,074 1,106 1,138 1,170
X PR mm] s SATEEBRUE | % 2.3 4.9 3.2 3.1 3.0 2.9 2.8
= HRERBEAEERET RE % 25.6 26.8 27.7 28.7 29.6 30.6 31.6
EEEE m 24,125 24,125 24,136 24,150 24,159 24,168 24,177
RETEEHEUVE | % 23 0.1 0.4 0.5 0.4 0.4 0.3
oo HRETH £ b ] ITHEXEmE 397.4 km?
B
o N 20224FFE | 20234 FE | 20244 i i i 3
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ HEHA X I3 P — AR T 5K =]
“B” HIAR B AN A A—2—F EREUTHEE 1&
1B |HERERNEERERE %
EBEER m
HERETH £ | ] THRXEmiE 397.4 km?
18 N 2022FE | 2023 | 2024&[E - - N -
Z]” IEHE\ERE (5240) (EEEA) | (o) 20254EFE | 20264EFE | 2027EE | 2028FFE
ﬁ LA R AR km” 15 1.5 15 1.5 15 15 15
4«3 HIAXRE AN — AT =] 3,767 3,767 3,757 3,746 3,732 3,716 3,698
X [{HERBRHAA—S—FERITIASK & 963 1,010 1,042 1,074 1,106 1,138 1,170
= HIEREANEARE R ER % 25.6 26.8 27.7 28.7 29.6 30.6 31.6
BEER m 24,125 24,125 24,136 24,150 24,159 24,168 24177
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(RE)E2xk ETREHE

T XETH 4 Fmm THRXEmEE 594.5 km?

20224EFF | 2023EfE | 2024 E

1] i3 — — 3 E3 = E3 3
B BEE\FEE (=) (=B | (EE) 20254EE | 20264EE | 2027FEE | 20284 E
7 | XEmE km? 33.1 33.1 33.1 33.1 33.1 33.1 33.1
ﬁi HEX AN — AR =] 46,542 47,097 47475 47822 48,140 48,429 48,692
N B8 (R I P R A— S — FRERRTHRE | & 21,065 21,336 21,868 22,281 22,554 22,824 23,090
X | SEEEHRUE | % 1.0 1.3 25 1.9 1.2 12 1.2
= HRERBEAEERET RE % 453 453 46.1 46.6 46.9 47.1 474

EEEE m 396,554 401,430 406,246 409,356 411,336 412,117 412,797

: SEEERUVE | % 06 06 1.1 14 05 0.4 0.4

oo HRETH £ FEh ITHEXEmE 594.5 km?
B
m |z . 2022 | 2023%FFE | 2024%F [ = = = .
=z BEEN\FE (=) | (EEEn) | e 20254FFE | 20265 | 2027FE | 20285
+ |HIEXEEIE km? 0.1 0.1 0.1 0.1 0.1
ff HIAREAN— AT =] 362 362 362 362 362
“B” AR NH R A—2—EE R 1@ 10 20 30 40 50
i [HERFEAEAE R E % 2.8 55 8.3 11.0 13.8

BEER m 160 638 1,115 1,593 2,070

HERETH £ FEh THRXEmiE 594.5 km?
1 2022 E | 2023FE | 2024 E

I £ epitall Ieuydigo -y 4 4 % £
ZJ” BENEE =) | =N | mER) 2025%EF | 20264%EfE | 2027HEE | 2028F[E
ﬁ HIAXEmEE km? 33.1 33.1 33.2 33.2 33.2 33.2 33.2
go | HERR BRI — AR H 5L F 46,542 47,097 47,837 48,184 48,502 48,791 49,054
X [{HERBRHAA—S—FERITIASK & 21,065 21,336 21,878 22,301 22,584 22,864 23,140
= HIEREANEARE R ER % 453 453 457 46.3 46.6 46.9 472

BEER m 396,554 401,430 406,406 409,993 412,451 413,709 414,867
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(BE)E2R BRFE

TmXETF 4 EET THRX i mE 294.7 km?
- 20225 F | 20235 | 2024FE = i i =
B HENEE (=) (=B | (EE) 20254 | 20265 E | 2027FEE | 20285 [E
7 e miE km 4.1 4.1 4.1 4.1 4.1 4.1 4.1
ﬁi HAREA— AT =] 464 464 464 464 464 464 464
% |mommny iy |TERBRY | @ 27 27 27 27 27 27 27
X Brie R BN 4 METEEBUE | % 8.0 0.0 0.0 0.0 0.0 0.0 0.0
B e REBNehER® % 5.8 5.8 5.8 5.8 5.8 5.8 5.8
- m 7,357 7,357 7,357 7,357 7,357 7,357 7,357
HELE HEEERVE | % 85 00 00 00 00 00 00
oo HRETH £ EET THRX i mE 294.7 km?
pa N 20225 | 2023%FE | 2024E[E i i i i
=z HENEE (=) (=EEN) | (EE) 20254EFF | 20265EfE | 20274 E | 2028FFE
F |HERIBEE km?
fﬁ HEHA R 1 N — AR T 4k =]
“B” HARBAH R A—F—FEE R 1@
1B |HERERNEERERE %
BEER m
HERETH £ EET THRX i mE 294.7 km?
i N 2022FE | 2023 | 2024&[E - - N -
Z]” IEHE\ERE (5240) (EEEA) | (o) 20254EE | 20264EFE | 20274E | 20284 fE
% [meREEE km? 4.1 4.1 4.1 4.1 4.1 4.1 41
f#t
o |HIaRER— R P 464 464 464 464 464 464 464
X [tARBRH RAA—S—EE RIS & 25 27 27 27 27 27 27
B e REBNehERE % 5.4 5.8 5.8 5.8 5.8 5.8 5.8
BEER m 7,357 7,357 7,357 7,357 7,357 7,357 7,357
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(BE)E2R BRFE

T XETH 4 R THRXEmEE 1,427.4 km?2
o [REN\FE zc();é%:)rg (ggggi %gﬁ“ﬁf‘% 20254 | 20264EfE | 20274 | 20284FfE
7 | XEmE km? 27.0 27.0 27.0 27.0 27.0 27.0 27.0
ﬁi HEX AN — AR =] 44,150 44203 44,159 44,088 43,990 43,867 43,720
N B8 (R I P R A— S — FRERRTHRE | & 18,418 18,457 18516 18,645 18,730 18,769 18,855
X | SEEEHRUE | % 1.7 02 03 07 05 0.2 05
= HRERBEAEERET RE % 41.7 418 419 423 426 428 431

EEEE m 382,628 383,514 384,714 385,914 388,363 389,563 390,763

: SEEERUVE | % 06 0.2 03 0.1 03 03 03

oo X ETH % R TR S E R 1,427.4 km?
B
m i 20226 | 20235E | 2024FE = = - =
% HEE\EE (=) (=EEN) | (EE) 20254EE | 20264EE | 20274EE | 20284EE
F |HERIBEE km?
fﬁ B R 1 N — AR T % =]
“B” HIAR B AN A A—2—F EREUTHEE 1@
1B |HERERNEERERE %

EBEER m

HERETH £ R™ THRXEmiE 1,427.4 km?
18 - 2022 E | 2023FE | 2024EFE N N o N
Z]” IEHE\ERE (5240) (EEEA) | (o) 20254EFE | 20264EFE | 2027EE | 2028FFE
ﬁ HIAXEmEE km? 27.0 27.0 27.0 27.0 27.0 27.0 27.0
g | AR — AT F 44,150 44,203 44,159 44,088 43,990 43,867 43,720
X [{HERBRHAA—S—FERITIASK & 18,418 18,457 18,516 18,645 18,730 18,769 18,855
= HIEREANEARE R ER % 41.7 418 41.9 423 426 42.8 431

BEER m 382,628 383,514 384,714 385,914 388,363 389,563 390,763
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~ N/ i.ru
FEEHLRE AR R
(= E] S A A U R A
20224E 20234 20244
o . 20254F i 20264F 202 7T4FJEE 20284
(%) (A RA) (W) - - - -

E IMPabl I m 0 0 0 0 0 0 0
oo JEIEJ élvﬁj‘[ffgt m 6,857 3,895 12,498 9,301 8,425 3,484 4,147
LEE 0. 1MPakiis m 57,328 52,736 54,279 56,391 60,898 56,569 56,611
s HE: IMPall |- m 0 0 0 0 0 0 0

. o [1MPaAdi
s B Ik £ o, 1MPat k- m 250 104 3,918 4,962 5,456 2,400 3,100
4 LEE 0. 1MPa#ifs m 17,291 17,216 15,475 15,041 23,199 21,943 21,325
e E 1MPall E m 39,305 39,305 39,305 39,305 39,305 39,305 39,305
o E; éMlii?f;@ T m 666,193 669,985 678,565 682,904 685,872 686,956 688,003

E .
HERIER Lgf 0. 1MPa#ii m 4,907,277 4,942,797 4,981,601 5,022,951 5,060,650 5,095,276 5,130,562
N - . 5,612,775 5,652,087 5,699,471 5,745,160 5,785,827 5,821,537 5,857,870
=

" ( 8,929) | ( 8,929) | ( 10,410) | ( 9,007 ) | ( 9,007 ) | ( 9,007 ) | ( 9,007 )
Jijd % m 44,012 48,171 42,890 34,145 7,000 6,900 6,900

X () PR E B IE R ORI
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(BE)F4R Fosftin A EsmE

NS N TADIES) | Wtk | LBoe 1oy | LEOET | e B
G x TR (tnm) (MPa) (m) (m) | vEER | TawA |tk
LIL B8R EEEHFELY 11~ G BT %E315-2 200mm (ofg%éa) 1360 1360 2024.6 RE
[ 5 27k 5—]
zo(zég)r;% z(gégf 2%]45}3{5 20254EFE | 20264EFE | 20274EEE | 20284
 JE R A — R S = > ’ ’ & > > >
H i 7 m 360,000 360,000 360,000 360,000 360,000 360,000 360,000]
(HARNA — DR E )
7 = =he] 3 % = N J+77 THEOEF i PR 4R Balie
[ FEOEULHE F ek 25 5k T e ]
Tayh - I CE@Ete | AE | TEOET | RS R PR a5 2 e i B A A (T )
No. U Ealihadels T AT AR & DOFESE (nf) T e H TR 20224F ¢ 20234 JiF 20244F JE 20254F 20264F JiF
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